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INSTRUCTIONS

1. Please correctly fill your Roll Number in O.M.R. Sheet.
Candidate will himself be responsible for filling wrong Roll No.

2. At the start of the examination, before attempting the
question paper kindly check your test booklet and O.M.R.
Answer Sheet and ensure that: '

#  The serial numbers of test booklet and O.M.R. answer sheet
are same. »

*  All pages of test booklet and O.M.R. answer sheet are
properly printed. All questions from S. No. 11o last S. No. 112
are printed and pages from S. No. 1 to last S. No. 16 are there
in the question booklet.

In case of any discrepancy/defect the candidate should
immediately report the matter to the invigilator for replacement of
test booklet and O.M.R answer sheet. No claim/objection in this
regard will be entertained after five minutes of start of examination.
Candidate will be liable for it.
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3. Answer all questions. 3. wft ot B SR Oy

4. Al questions carry equal marks. 4. H TEl B 3 W E

5. Only one answer is to be given for each question. 5. UF W B Boel Up & oIR ofrg) -

6. If more than one answers are marked, it would be treated as | 6. . & & 0% TR Y & Wl § g™ & WR BT TG T

. wrong answer. ST | )

There is no Negative marking. 7. EUTEE AF ¥ W B

8. Each question has four alternative responses marked serially | 8. w3 W& % TR Jwfasd Sw Ry w € M w9w
as {A), (B), (C}, (D). Candidate has to darken only one circle (A), (B), (C), (D) sifere far war &1 anoedt o7 wd) SeR fAafde
or bubble indicating the correct answer on the Answer Sheet B Y O W DI G Ml YA 9 Pl FTR-TID W
using BLUE BALL POINT PEN. 4wt @ige 99 @ TEG T 2

9. Use of Mobile Phone/ Bluetooth Devices or any other | 9. Wasa B /sy fyargs srerar golagife a3 o1 wden g
electronic gadget in the examination hall ig strictly prohibited. ‘\;{zﬁTf‘ gjﬁw affg & o B apaelt @ wg U @i 9l
If any such prohibited material is found with any candidate, ) ferd) 2, o o9 R ¢ g1 FEARNR BN Hria
strki;:t action will be taken by the Board against him/her as per 2 T
rule.

10. If there is any sort of ambiguity/mistake either of printing or | 10. . R R ye1 & R vd s wuwRl § Bt TR & Y

factual nature in Hindi and English version of the question,
. the English version will be treated as standard.

Warning : If a candidate is found copying or if any unauthorized
material is found in his/her possession, F.L.R. would be lodged
against him/her in the Police Station and he/she would be liable to
be prosecuted under Section 3 of the State Prevention of Unfair
Means Act, 1992 and Board Regulations. Board may also debar
him/her permanently from all future examinations of the Board.
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Which river carries water in Udaisagar lake?
(A) Parvati (B) Kothari
(C) Ayad (D) Gomti

ITIATR A # O FaRd FRA ael Ao
HrEr 87

(A) Trdeh (B) PR

(©) s (D) T

Which among the following is not a conservation
reserve?

(A) Ummedganj Bird Sanctuary

(B) Shakambhari

(C) Machiya Safari

(D) Sundhamata

fafaRea # 9§ o FasE Red /Sxfga
&= & 87 o
(A) s el faEr

(B) wep=_) L H
(C) =ifer BRI E
(D) grermran

Which one of the following pair is nnsmatched‘7
(A) Veer Satsai : Suryamal Mishran
(B) Kuvalayamala : Som Suri
(C) Prithviraj Vijay : Jayanak
(D) Hammira Mahakavya : Nayanchandra Suri
Py 4 1 P T AR T 87
(A) IR Fov : gIHCe Wl
(B) gacraarel : G/ T
(C) gedRmST faoTy : ST
(D) =ik HBIHTA : TqTa= G
Which one of the following is not a copper
producing area in Rajasthan?
(A) Gujarwara (B) Khetari
(C) Singhana (D) Kho-Dariba
fefoRea # 9 B IoRIE ¥ dfaT Sed
&3 7E 87
- (A) TERaETeI (B) <
(C) RRfer (D) @
Which one of the following pair (Ornament - Body
Part) is not correctly matched?
(A) Memand - Forehead (B) Suraliya - Ear
(C) Kanthi - Neck (D) Mundari - Wrist

10.

‘Mundiyar Ri Khyat’ mainly describes the rulers
of which state?

(A) Bikaner (B) Marwar

(C) Kota: (D) Mewar

PERHR O =W A4 g w9 9 5w = B
ST BT gl T T 27,

(A) TR (B) #RaTs

(C) et (D) Hars

Which two generals of Rao Maldev fought against
Sher Shah Suri in the Sumel Battle?

(A) Alha and Udal (B) Ranmal and Ratipal
(C) Goraand Badal (D) Jaita and Kumpa

g g ﬁmﬁﬁmmww

zﬁ%a’rmﬁﬁﬁmw
(A) BT 9 Fed (B) 3T 9 3faurt
(C) IRT 9 WIS (D) 1T 7 A

Which.type of climate is found in Jaipur, Dausa
and Ajmer districts?

(A) Humid (B) Sub-Humid

(C) Tropical-Humid (D) Semi-Arid
SRR, ST TAT IR Rovett & e yoR @
aaavg g oY 27
(A) 3 (B) 93Tk
(€) SHwI-3Ts (D) IE-g=»
In which city is the Cantonment Board located in
Rajasthan?
(A) Mt. Abu (B) Erinpura
(C) Nasirabad (D) Deoli
R # BT a1 R e 7 27
(A) ATIvE 377q (B) TRAgw
(C) wRmTE (D) <l

Who is called the ‘Gandhi of Chirawa’?
(A) Bhogilal Pandya

(B) Master Pyare Lal Gupta

(C) Jamnalal Bajaj

(D) Hari Singh

, o (A) wrfierer goes
ﬁwm%%?ﬁaﬁﬁwm(w~w)_ﬁ (B) e weTet T
(A) iz — R (B) wRferar — B (©) SFreet Fofter
() & — e (D) HES — s (D) &R Rig
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1. The capital Chavand was associated with - 15. The isobar line of 999 milli'bans in the month of
(A) Maharana Kumbha (B) Maharana Udaisingh my passes frc;n which g}f‘m“?
QCan ' Barmer - Nagaur — Churu
c Prat (D) Mah S e :
©) Maharana Pratap ‘ arana Sahea (B) Jaisalmer — Bikaner — Ganganagar
rqve T Y TEE (C) Jalore — Pali — Ajmer
?
A) (B) T Ri (D) Sirohi — Udaipur — Jhalawar
(C) HERIN yema (D) HERTOT T g AE B 999 FellaR @ wHeE Y@ &
12. Kripal Singh Shekhawat and Durga Singh were A: G Torel &
associated respectively with - (A) IR — AR — IH _
. (B) SRIEHR — FHIR — TR
(A) Usta Kala, Meenakari (©) e — T — FToRR
(B) Blue Pottery, Meenakari RIS
(C) Blue Pottery, Thewa Art ) SRt T Hldle
b 7 16.  DNA is not present in -
(P) Mecnakari, Sculpture (A) mature spermatozoa (B) an enucleated ovum
(C) hair root (D) mature RBCs
%87 . oAy, f § soRRerd el €her 27
(A) St Fel, AP (A) wRua T (B) U Her+ &9
(B) =7 dfed), T o (©) 31t &Y s (D) IRuF R,
(C) 351 Gtedy, oyar Pl 17. “E” represents t:;le gene fgr brc;lv.vtn coatt col;)ur anlg
5 o “b” represents the gene for white coat colour.
D N
13 © e the cross BB X bb all the offsprings have a brown .
- Vertisol type of soil is found in Wthh dlstncts of coat, Which genetic principle s illustrated by this
Rajasthan? . . cross?
i~ Alwar—Jalpu.r ®) Kot'a-Bund1 (A) Multiple alleles (B) Dominance
(€©) Churu-Jhunjhunu (D) Pali-alore (C) Co-dominance (D) Crossing-over
aﬁawﬁwﬂmﬁ?ﬁﬁmﬁa‘rﬁ “B” R PIE T B A 9 “b” WhE Ble T B
g e 87 i @1 wfafier HReT & | BB x bb Hevor § |y
(A) ITETaR—TTIYR (B) HreT-gd! Fafgr R e B S B | T HIRT 9§
(C) TH-FIT, (D) Urefl—ITelR e el Rigra o e B 87
14 After being the Chief Minister of Rajasthan, who (A) THIED Teflel (B) Wvl'a_ 5l
was the Deputy Chief Minister in the cabinet of (C) HE—ywifaa (D) wiRfT—aTaR
other Chief Minister? ‘ 18. The Indian Space Research Organisation (ISRO)
(A) Jai Narayan Vyas has successfully launched a record 104 satellites
(B) Haridev Joshi from which rocket vehicle?
(C) Tika Ram Paliwal (A) PSLV-C37 (B) PSLV-C35
(D) Mohan Lal Sukhadia . (C) PSLV-C38 (D) PSLV-C36
ﬁwﬁgxgﬁ’g@wa% ARATT SR ST W6 (R 7 f5a Ade
\ (A')'\_ﬂ' 5 31§W3| i mﬁﬁﬁaﬂé1o4mzﬁr%ﬁaﬂwmw
(®) R i T 87 |
() 7 < arelarat (A) GTgggad 47 (B) Aﬁ.w.w.ﬂ.—#fss,
(D) wie= @il gy (C) Ruaradl—es (D) NLgd.uad—¥36
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19. How many carbon atoms are joined in

buckminsterfullerene?
(A) 30 (B) 90
(€) 60 (D) 120

IHARERBAT # fra T TR SR ?f‘?r
&

(A) 30 . (B} 90

(€) 60 (D) 120

20. . Which of the following gas is filled in flush bag of
chips?

(A) Hydrogen (B) Oxygen

(©) Nitrogen (D) Helium

R & @ o ?fr I g & vorwr 37 H
CEUATIGT- T

(A) ERSISH (B) sifefioH

(C) FrgCIoH (D) Eiferam

21. %18,750 is invested by a man in the bank account
of his two sons whose ages are 12 years and 14
years in such a way that they will get equal amount
at an age of 18 years at the rate of 5% per annum.
The share of elder child was -

(A) 7,900 (B) T 6,600
(C) 8,300 (D) 9,750

T T Y a9 12 9§ T 14 9f g B &

@ & §% @El # 18,750 TH AR 39 yHR.

A XA 6 5% qfE @t B TR W S
18 99 31 oy W T Al | 99 9 g
% fore ST ears R ofi-
(A) 7,900% (B) 6,600%

- () 8,300% (D) 9,750%

22. A shopkeeper gets 25% profit on a cycle by giving
10% discount on the marked price. If he would
have given 20% discount, then his profit percent
would have been - » )

(A) 10:1.% : - (B) 1%

(€) 1110 (D) 10%
9 -

fell wEfbe @ Sifhd qou W 10% F1 957 &7
W TH GHMGR BT 25% HT A BT 2| AR
Wzo%m@ﬁmﬁwﬁmmmﬁ
X7 —

23. ‘Which number should be subtracted from 23, 30,

57 and 78 so that remainder becomes proportional?
(A6 B) 7
— €5 o D) 13

- In a mixture of 40 litres, the ratio of milk and water
" is 4:1. How much water must be added to this
mixture so that the ratio of milk and water becomes

(B) 20 litres
(D) 32 litres

' UH 40 ok & fsor F gy g e @1 e
5 41 8139 P § e o framr s @

(C) 48 =hex (D) 32 &frex

25 A sum of money invested at compound interest
- amounts to T4624 in 2 years and to ?4913 in
years. The sum of money is -

! (8) 74335

- (©) 2 4260

O Tayly AN R P Y TE uE gRifT 2 9 §

T 4624 X 9om 39Y H 4913 ¥ B W ¥ 9%
CENIE

(A) 4335 % (B) 4360 T

=+ (C) 4260 X (D) 4096 T

%ﬁw W@W%Wﬁaﬁq——w%m%‘?

> (A) Tﬁ yraTe, YeEivr, faga

 (B) R — TaTE, TFHSE, J5au

(C) PUGET — AR, TIRGT, GRA®

) 3§ — W, B, fam

i 3
L

27, e il S Wl § - e s 27

(A) TR — w9 3R ‘o Suert & Aff 2
(B) 3MUTy — Hat ‘I SuET W A ¥
(C) 9% — Suwf U9 g S 9 Fffg 2
D) *fafe — ‘39 uewm ¥ [fig 2

8. v fgE T g5 R NP g did [
GRET B gfe W Sa a1 © —

(B) T4360 g .
(D) ¥ 4096

A 1 ] B : .

) 1029 (B) 11% (A) w1 (B) s=oTi® qrem

© 119 (D) 10% (C) W arery (D) fA1 e
108'6’\O .Page4~of16

29. T & e ¥ BH-a1 Reey agfa &? 34. Fill in the blank spaces choosing correct set of
(A) wawy — HHIRY GAR prepositions from the given options in the
sentence —
(B) ¥rarre fe ‘David is afraid ........ climb the ladder; he is afraid
©) gorFe — sgafe @9 e | falling.’
(D) el — ST WH (A) to/to
. . B
© mieany |8
(A) - e ®) - (D) of /10
(C) diifsw — wraR® (D) a1 — QR 35. The language of an official letter does not follow -
31. Choose the appropriate question from the gi (A) g;g;:ﬁ; pattern stating the reason of writing
options to which the following s§ntence can (B) the principle of simplicity and straight
response - : forwardness.
‘We have been living in Delhi for five years.” * () a personal / subjective tone.
(A) Have you been living in Delhi? (D) a careful presentation of information.
- (B) How long had you lived in Delhi? 36. Number of triangles in the given figure, is —
(C) How long have you been living in Delhi?
(D) How long have you lived in Delhi?
32.  Choose the most appropriate option :
. | ‘
How rich and powerful John was! (Transform A) 36 | B) 3
_ simple sentence) o (© 28 0 40
(A) John had been so rich and powerful. _ ) _
(B) John must be so rich and powerful. fag ferr % Frqeil @) wen g -
(C) John can be so rich and powerful.
(D) John was very rich and powerful.
33. Match the sentence given in column (A) (Wit
blank space) with the determiners listed‘in colu » A) 36 B) 32
(B) so as to complete the sentences with corrg; t (©) 28 (D) 40
options : o 37. In a certain code, ‘INDIA’ is written as ‘ONIG’;
Column (A) Sentences ‘LONDON’ s written as ‘SOUDVN’. In the same
(i) Would youlike ....... to eat? code language ‘DELHI’ and ‘ENGLAND’ will be
(ii) Thereis ...... milk in the fridge. - wriften as - :
(iii) T haven’t got ....... stamps. (A) JERHO, KNMLGNJ
(iv) We haven’t got ....... to eat. (B) JKRNO, MVOTIVL
Column (B) Determiners (C) JERHO, KNLLFNI
(2) anything (D) JERHO, MNOLINL
(b) any f5¥it 3¢ % ‘INDIA’ I ‘ONIIG’; ‘LONDON®
(c) something F1 ‘SOUDVN’ foram wiem &1 S @ T o
(d) some ‘DELHI’ g2if ‘ENGLAND’ &1 férar Sirgem —
() (i)-c; (ii)-d; (iii)-b: (iv)-a (A) JERHO, KNMLGNJ
(B) (i)-c; (ii)-a; (iii)-d; (iv)-b (B) JKRNO, MVOTIVL
(©) (i)-d; (ii)-c; (iii)-b; (iv)-a (C) JERHO, KNLLFNI
(D) (i)-b: (if)-c; (iii)-d; (iv)-a (D) JERHO, MNOLINL
108 - €0 Page 5 of 16



38. A cube is coloured black on all faces. It is cut into
64 smaller cubes of equal size. How many cubes

39.

have only one face coloured?
(A) 8 ; (B) 16
(©) 24 (D) 32

T U9 B T Tl B Bl T W W7 AT L
39 64 B WAM AHR S 47 § BT o &

™ o= @1 Baa wF ga Gl 27
(A) 8 (B) 16
(C) 24 (D) 32

Three statements and two conclusions are given
below. You have to fake statements to be true and
decide which of the given conclusions logically
follows from the given statements disregardihg
commonly known facts :

Statements : Some trains are roads. No road is
jungle. All flowers are jungles.
Conclusion : I. Some trains are jungles.

II. No road is flower.

(A) Only I follows

(B) Only II follows

(C) Both I and II follow
(D) Neither I nor II follows

A o ol =Y fred A Ry e # ) amoey
§ BUFl BT W A gV I8 M w2
f5 Ry o frepst ¥ ¥ e Py
I Gedl BT A7 A §Y Y T wet F7 anfdie
HY A ATERT FRT &

W@W@mm%;ﬁéﬂﬂmaﬁ

T8 g1 I vt 99
%Y : 1 {5 Yo a9 &

L% N 95 5ot T8l 8|
(A) a1 SRR HYaT &

~ (B) &aer I S1R0T ol §

(©) ST I &R I SR e &
(D) 51 <Y I 97 & Il 3R Pl &

40. Read the following information carefully and then

41.

42,

answer the question —.

(i) A - B means A is the son of B.

(i) A X B means A is the daughter of B.

(iii) A + B means A is the father of B.

(iv) A + B means A is the mother of B.

IfM +N-0OXP +Q, then how is M related to Q?
(A) Cousin (B) Brother-in-Law

(C) Husband (D) Uncle

ﬁﬂ%@ﬁé STHSR] B FYdd Ue 3R U9 $T
W —

(i) A-BHT I8 AB &7 qH 2|

(i) AXB®HI I8 A, B & gt &}

(iii) A+BHT 3R & A, B & fUar 2]

(iv) A+BET 3f & A, B &) wram 2

I M+N-OxP+Q & M, Q ¥ 59 WoR

R 87 ;
(A) TRy 91g (B) e @
(C) ufa (D) =g

NFPA 11 stands for -

(A} Standard for low, medium and high expansion
foam

- (B) Standard for the installation of standpipe and

hose systems

(C) Standard for wet chemical extinguishing
systems

(D) Standard for mobile foam apparatus

TATHAIY. 11 &7 3ef § —
(A)ﬁﬂ:r Waﬁ?*ﬁa—mﬁwvﬁﬁ%ﬁw

(B)?%‘@mgqaﬁ?muvma%w%m

©) 3 Zfﬁ?-sam vraRPafiT Riew 3 1%1(' LISE
(D) HiqI3d BW JUBYT B fow wE
According to National Building code iv 2016,
Storage buildings are classified as which group"
(A) Group S (B) Group H

(C) GroupE (D) Group A

Wﬁ%@waﬂewzom%m, FEROT et

P f5e U B w § gl Ry wr &2
(A) 7T TE (B) 9 va
© gug (D) 79 g

108 - €2

Page 6 of 16

i in First Aid? 47. Which of the following order is correct for
? >
I : o FlfSt e i olymers in decreasing calorific value?
(A) Airway-Breathing-Correction poly e e  ectvmene
(B) Airway-Breathing-Consciousness (A l(’joll_\lyulrethane, olyethylene, ystyrene,
ing-Ci ' ose
(C) Airway-Breathing-Circulation elia | polvirethane
(D) Airway-Breathing-Compression (B) g:llﬁ’jg};feene, Polyethylene  Polyu :
wreifye Rifhear § ABC T 82 - (C) Polyethylene, Polystyrene, - Polyurethane,
: Cellulose ’
A) TRI-AfET—FHRFe \
EB; TRA- ST iferd : (D) Cellulose,  Polyethylene,  Polystyrene,
Polyurethane '
(€) TRI-NfT—Tg e ¥ |
(D) TR et § 9 @ ar HA diferR & gl dard a
44. Fires which involve combustible metals such as B foro 98 & |
powdered aluminium belongs to which class? (A) drefRRe, tﬁ?ﬁm qﬁ‘éﬁ’x’%‘lﬁﬁ SER
EETTUREY | e e e
a 7 el o
(C) Class C. ‘ © | | | | .
T T # SaerTRiTe O1g S TreeY (D) Ve, dfeigferel, defversdi, dfefgyer
B 8 9 e @1 Ef & 48. Who is authorized to test petroleum?
() I ( 8) D (A) Other country organization person
(© c ©) K (B) State Government person
45. What is fire load density? (C) Central Government person
(A) Fire area minus fire load (D) Private organization person
(2) F?oor area p}gétiglliedf})y fl;;l:ad : & o0 & Rre B .
it S S
Fl;e oad plu (B) <ot N
PR 7lre SRad au 87 (©) B TR & @
(A) BRR WS BT HRR TRAT F TSI ST © (D) B e B
®) g&ﬁ? @ eS8 T fepar et 49. The ratio of the effective area of vent openings to
& AR the floor areas for low heat release contents
(C) SRR s P TR i fepa occupancy classification is -
ST (A) 1:50 (B) 1:30
(D) Teite TRar # IR S B S T E (€) 1:150 D 1:100
46. During initial testing of hydrant system, an o B  apffeeor 3 fore et
inspection of the system should be done to check e %I‘a' Xl %ﬂl o1 Efj SR &%’a‘f“' - s
that no leakage of water is taking place at any of A 150 W”CJ“(B) 130 SRSIN
the joints or landing valves and the pressure in the (A) 15 :
- (€) 1:150 (D) 1:100
system does not drop more than ..................... ' N ‘
(A) 50 kPa (B) 60 kPa 50. Fire protection facilities for petroleum refineries
(C) 30kPa (D) 80 kPa and oil/gas processing plants is related to -
5= R | iR 5 3 & (A) OISD-STD-118 (B) OISD-GDN-117
. > ifew ﬁTf;f el ‘e—ﬁ e (C) OISD-GDN-115 (D) OISD-STD-116
T AR At F w3 R 7 A i R gferr ReTgaRa oiR et /A wrefepRe HafEl
ﬁa’éﬁa ........................................... ﬁa@iﬁﬂﬁﬁl %maﬁqwgﬁmmwﬁag?
(A) 50 kPa (B) 60 kPa (A) OISD-STD-118  (B) OISD-GDN-117
(©) 30kPa (D) 80 kPa (C) OISD-GDN-115 (D) OISD-STD-116
108 - €0 Page7of1é



51. Hydrostatic pr"egure testing for water extinguisher 55. The audible alarm notification appliance shall
i i provide a sound pressure level of ............ (dBA)
above the average ambient sound level having a
duration of not less than .......... seconds.
(A) 20,70 (B) 10,50
(€) 15,60 (D) 30, 60
o IR SUFT W qEE ®R
................. (@) sl oRde egf w"R | FW
52. What is the cpleur coded for portable water type oy A ¥ P :
fire extmgmsh@ﬂ !
(A) French Bliie! (B) Pale Cream (A) 20,70 (B) 10, 50
(C) Signal Reg (D) Emerald Green (€) 15,60 (B) 30, 60
' 56. Building fitted . with wet-riser/wet-riser-cum-
LEEERS W @ RIS FT FoR TS T down-comer mains should have access- roads to-
BT 87 3 , within ....cooeeeeeennnnne m from the boundary line
(A) Bg = (B) v& HH of the building and the nearest wet-riser stack
Rperer ' should not be more than ...................c..o.en. m
(©) ¥ (D) Tre g. Rl from the boundary line of the building.
53. Nuclear explosions (tests) by India at Pokhran (A) 10, 20 (B) 15, 30
range named Pokhran ~ II were carried out under - (©) 6,15 (D) 8, 16
(A) Atal Bihari Vajpayee in 1998
(B) Raja Ramanna in 1998 a'c’—«ls\m / TERGIR-FA-ST-FR 7 |
~ (C) Indira Ganidhi in 1974 WJ}E? R ]
(D) Jawaharlaff‘{ehru in1974 1 e Eﬁ'ﬂT aT%Q 3R AN P
¢ e %rd-—m LS Aex @l A
W—IIH%WWﬁWWW Y@ ¥ e TE B ARy | ,
W&Wﬁ L1 A % el far T (A) 10,20 (B) 15,30
o o (€) 6,15 (D) 8,16
(A) 1998 % STEE;? fagry araof 57. Wet chemical extinguishers are used for -
(B) 1998 ¥ YT T (A) Cooking oil fire -°
(©) 1974 % Ry ieh (B) Cloth fire “CH
D : (C) Wood fire .
(D) 1974 § FaTERETd 86
. ' . . (D) Coal fire
54. Fire Zone No. 1 shall comprise areas having - ' '
(A) Group-A, wig}roup -B,  Group-C, Group-D, Je Bfiwd TaIfcRaer &1 Suant e fory
Subdlvmm@E 1 and Group-F faan e 87
(B) Group-A,< '@roup-B, Group-C, Subdivision (A) G 9B & T DY 3T
ElandG‘:gﬁfpr (B) HUS PI 3AFT
(C) Group-A, ~Group- B, Group-D, Subdwlsmn (C) TIPS BT 3T
E-2 and Group-F (D) BTt BT 3T
AL - :
® Sff‘;?,f‘ G%g_lg%p B, Group-C, Subdivision 58. The premixed agent in liquid charge-type AFFF
. ] . . and FFFP fire extinguisher shall be replaced at
W@?W1ﬁam¥ﬂﬁﬂmwm least once in -
(A) ;K’, Yo, g, gu-S, weRdae (A) Three years (B) One year
tq gu-U% (C) Six months (D) Nine months
(8) Tu—T, o1, Fo-M, AT -1 T | .
T7-T% ferfdas arsi—<Ig9 AFFF ok FFFP aiffemes a3
(C) TU-T, YUY, gq—:cﬁ iAo 32 T ﬁﬁrﬁmqﬁzaﬁw@www%ﬁw
gu-—T% § ggar ST Aey?
(D) gu-v, YU, gcr—qﬂ wfézﬁm 209 - (A) 37 (B) 1 4
9% ©) 6 7EF (D) 9 T
108-€O . Page 8 of 16

58. Which material is used to clean the slip gauge? 63. What is the material used in screw pitch gauge
(A) Kerosene (B) Carbon tetrachloride blade‘? _
(C) Wax (D) Soluble oil (A) Spring Steel
(B) Mild Steel
Rer0 75 @ W% FRH @ ford fFa Al @ (C) Medium carbon steel
IUGnT fosgr T 87 (D) Cast iron
A e wrde - (B) BT SEaRIgS W fm Ao @ ¥ Rrd g BT ST e
(C) 5m (D) geefier oa | ~ra
80 n a report, the Glossary forms a part of which of (A) Ry
the following? - (B) AIEeE wid
(A) Back matter (B) Index (C) #fezw e Rfla
(C) Front matter (D) Main body (D) BIRC ATRA
g R # verad frafaiea # 9 fraar %WT 64. A person need not obtain a license for the import,
g? o, transport or storage of petroleum......................
A) 35 Jex (B) urpi not intended for sale if the total quantity in his
C) & D) e o possession does not exceed thirty litres.
61. (\’Vilzfs 2:? purpose of (ta:)ef:l:;:auges" ) Class B (E) Class €
’ C D
(A) Check tapered hole with perfect fit (€) Class A (P) None of the above
(B) Check the inside threaded diameter ol Al BT eiferam, o fasg
(C) Check the tapered accuracy of outside % forg =2 €, & omura, uRaga a1 weRw & forg
diameter TS B TRRd T8I © Ifa D U el Al
(D) None of the above - 30 eiiex | otr% TEl B |
TR O NS BT LYY R®IT &7 (A) T™T B (B) g™ C
(A) w8 fiie & I SR B 3T A () T A (D) SWad # | PIg I
(B) SR rs = ¥ Wi . " 5. Fire services in India comes under which
(C) 9188 =T & SR HBAT Bl Wi Ministry?
(D) SWRIFT BIg &I ; (A) Ministry of Emergency Servxces
62. “Occupier” of a factory according to Factories Act (B) Ministry of Fire Services
1948 means - : (C) Ministry of Defence
(A) The person who has ultimate control over the (D) Ministry of Home Affairs -
affairs of the factory '
(B) Any premises including the precincts q;”;a 1 ST W {51 HArer @ of o 311‘(?[
(C) Means a person employed, directly or &
indirectly with or without the knowledge of. (A) FaTeBTer: _\’}m HEIGE
the principal employer (B) e waT HATGIY L H
(D) A person who has completed his fifteenth year (C) werm waTGTg
of age but not completed his eighteenth year + D) & BTl
HREFE AR, 1948 & AR, fvdl Wﬁ 66. IS code for selection, installation and maintenance
& “aRer a7 o § - of First-Aid fire extinguisher is -
(A) g8 fdd forasT eREM @ AMel W) i A B
g A (A) 1S 6070-1983 (B) IS 3844-1989
(B) aRei <fed B o aReR (€) 1S 21902010 (D) IS 2189-2008
(©) g frten @ 9 @ WRr A S fo Trefs faftedr OIS B 99, IO 3R
T 7 e WY 9 R @t | TG-@E & fory IS &le & —
(D) 1o =fen o ol desdr oy g &R ol (A) 1S 6070-1983 (B) IS 3844-1989
2 olfdh 31U JoREd I qRT el BT 8 (€) IS 2190-2010 (D) IS 2189-2008
108 - €0 Page 9 of 16 ‘



67.  Petroleum Class A meané - 70.  The removal or:prot.ecti'bn of property that could
(A) Petroleum having a flash-point below be damaged during firefighting is called - .
; (A) Safe operation (B) Secure operation
22 degrees centigrade (C) Salvage operation (D) Sample operat
(B) Petroleum having a flash-point below P P p.ra 1*01_1
23 degrees centigrade AT F 3 Em'&”;w & “cﬂ%ig SEIRpI
. . salﬁmg?%a Pl NIldl & —
(C) Petroleum having a flash-point below o R ot
| 24 degrees centigragde ' :2; W% : * s :g; s Vl El &l
(D) Petroleum having a flash-point below ‘ o
25 decrees centierade : 71. As per the National Building Code part—4, how
’ & g . many divisions are there in Group-G industrial
UL FelT T BT Heiold € — building?
(A) 22 Rl e ﬁ Sy Wﬁﬂ—‘fﬁs‘d S (A) F.our I‘)i.vi'sions (B) Three I?iyi.sions
N o ' (C) Six Divisions (D) Five Divisions
B) 23 Rl ¥ ¥ A wWe-die awn TS v WRAT M4 B SER, -G
Yeiferem , 3enfie waT o fhas yarT g 82
(€) 24 Rt WIS ¥ W Wi (A) TR T (B) <1 st
Jeiforam (€) B g (D) urer gumT
0125 B S % et e | VKD e i v mohd i
e (&) Uranium ’ ‘
. : Uranium-239 (B) Cobalt-60
68. Which of the following is a primary respons1b1hty (€) Uranium-238 (D) Thorium-132
of a Fire brigade?
(A) Provide emergency at scene, first aid and CPR AR ST veuieR, el 2010, ¥ Pied
if needed : MeareEt arRll enfier of?
(B) Operate fire fighting equipments (A) R1H-239 (B) wrEfee-60
(C) Implement emergency shutdown procedures (©) RfrTm-238 (D) MR¥H-132 |
(D) All of the above 73.  According to Hierarchy of risk control method,
ﬁmﬁf@a 4 B TP BRR f—;mg &) yrIfe which of the following principle is most effective?
frrery 27 (A) PPEs (B) Elimination
(C) Administrative (D) Substitution
(A) Af s &), 1 gerId uR Imard Rfy
’ ’ control
(B) e SUGRTI BT WA HY SR 'q?‘%‘ ﬁqq@‘a @ UG B IER,
(C) AYTTHIAT TS WAl BT AR ey % ; et w1 Rl W s e
(D) s < | (&) g (B) T
69. In the‘Factor'ies Agt, 194.18, prec:flutions in case of (©) yerIfE frgEer - (D) yRreemgs
fire are mentioned in which Section? 74. Which of the followmg fuels has highest calorific
(A) Section-39 (B) Section-24 value? ‘
(C) Section-34 (D) Section-38 ~ (A) Methane (B) Petrol
HRET AR, 1948 &, AT o B Reify & (©) Wood (P) Hydrogen gas
AU SR BT Seord b Ry ¥ &2 Fefafaa & 9 fba oM &1 o™ a9 9ad
R 8w pm 9
(A) &R1-39 (B) eTRT-24 : v 8
(C) eR1-34 (D) gR1-38 (8) e (B) 95T
(C) HS (D) grEgor e
108 - €° Page 10 of 16

75.  Which of the following is included in passive fire 79.  According to the third schedule of Factories Act,
protection system? (lszlﬁ\;lwhich one is not a notifiable disease?
. ercury poisoning
(B) Deluge systems (C) Carbon dioxide poisoning
(C) Sprinklers systems (D) Anthrax
(D) Foam based extinguishing systems FREF ARFRE 1048 7 SRR R B
ﬁq%@ﬁﬁﬁaﬁ?ﬁ&ﬁaaﬁfg?mmﬁ AR, - Th IGAF 1T TE 87
i 87 (A) aRT fuTaRTa :
(A) el @ige (B) fferaa
(B) Sevpwt fRreent (C) TR STEaifeaTgs fasramar
(C) Reiper ReH (D) TR
(D) wH IMIRT TAF JoTred! 80.  According to Factories Act, 1948, no adult worker
76. Fixed Fire Protection systems are not normally shall be required or allowed to work in a factory
required in - for more than......coceeevvvennnnn, hours in any week.
(A) Group-1V Hangars (B) Group-II Hangars (A) 50 (B) 45
(C) Group-IHangars (D) Group-III Hangars (€) 56 (D) 48
e SRRET ST ) T iR SEeET FREFT SRR, 1948 & AR, el 7o
TE BN ® - | s B 5l FREm § R o waw 3§
(A) oIV T ® quuEF=s Tet W ol B B B aravdar a1
(©) Fu-I g # (D) yu-TI &7 & At 8 € o
77. A detonation is a .......cc......... combustion wave (A) 50 (B) 45
that consists of a shock wave driven by energy (€) 56 (D) 48
release from closely coupled chemical reaction. - 81. Which is not a type of Hose storage?
(A) Ultrasonic (B). Subsonic (A) Dutch roll (B) Figure of eight
(C) Supersonic (D) Sonic (C) Flaking (D) All of the above
ST U@ e T8 W7 & fored frae BN W B FERY BT O TR T
g T AR 6 S g (A) T7 e (B) R 3if Te
Heferd OF Wie 99 BRi & : :
@ ) —_- (C) waifdpT (D) Wi F
. < N D) < 82.  What is expansion of MSDS?
© 3 ®) (A) Material Specification Data Source
78. The National Disaster Management Authority (B) Material Sourcing Direction Spot
(NDMA) was initially established on..................... (C) Material Safety Data Sheet
(A) April 30, 2006 (B) September 27, 2006 (D) Material Science Direction Source
(C) May 30, 2005 (D) March 31, 2005 TTEETE. (MSDS) &7 R w @ 27
TR ¥, IS SAIIET GEE IR (TELYAY) (A) HeReaer wffaer Ser A
BT RATTAT oo BT BT T oA (B)ﬁéﬁaﬁﬁﬁfﬁmﬁﬁﬁ ]
(A) 30 a1k, 2006 (B) 27 Rz, 2006 (©) ¥Rua I e e :
(©) 3098, 2005 (D) 31 wTd, 2005 (D) #RRuer T SRRTEH Y
108 - @ Page 11 of 16



83. Which statement is not true regarding fire drill?

(A) Fire drills should occur randomly during
different times of the day and during different
activities.

(B} Drills should be conducted using the same
procedures that would be followed in case of
an actual fire.

(C) The purpose of fire drills is to educate all
participants in the fire safety of the building.

(D) A fire drill should be scheduled once in every
6 months.

BRR 3ol & 99 & 9T BT G e 87

(A) f&A & STTT—3IelT ¥ 3N STTT—3TenT
wfafafrt @ AR BRR fge savde T |
Bt

(B) f3or 5=} ufthamsll &1 ST RSB AT
P ST TRY RTFeT aRafde T o @
Rerfer & urer forar Siree |

(€) $RR 3o &1 ey N o) o1 9ae
1 AaftT WRem & IR H Rl F=E 7

(D) yAF 6 FE ¥ TP IR UH BIR a1 FeiRa
CARvICIlC T

84. What type of ladder is to be used for conducting
electrical related work?
(A) Copper or iron
(B) Aluminium or iron
(C) Steel or plastic
(D) Fibreglass

FT IYAT R var 87
(A) T 7 e Y
- (B) gogfiferrm oy g @ 2o
(©) et a1 wnRe® @I E g
(D) BIgER—TeIRT &I
85. Which one of the following is not the part of
“Three Stages of Fire”? ’
(A) Frée-burning Stage

(B) Smouldering Stage

(C) Incipient Stage

(D) Explosion Stage

Frerfarftn 3 @ B T B A TR T R
e 87

(A) Hat—as Sravel

86. Dry chemical and halogenated agents are effective
on various fires by -

(A) removing heat

(B) removing fuel

(C) interrupting chain reaction .

(D) All of the above

Y WA AR A g goie IS ger
BT AT W g B B
(A) A9 BCTHR

(B) 2o TR

(€) =9 RuFwH H I TTAI

(D) ST a1 ~
:  Which of the following is more beneficial and
-economical in a work room of a factory?
(A) Artificial lighting
(B) Conventional lighting _
(C) Combination of Natural and artificial lighting
(D) Natural lighting

Y O P P SREN & 1 Fe § e
TETIS T T grar 87

(C) WTFRIE 7o HEF THTT FT A
(D) urfere wepTer

Which one is more suitable for the protection of an
aircraft hanger?

(A) CO; Flooding System

+ (B) DCP Flooding System

(C) Foam Monitor System

(D) None of the above

ga'@wa TR @ TR & fog w/m 37@126 g

5

(A) CO, vl Rieew

(B) AUl waldT Ren

(C) B wiFeR ReA

(D) T A BIS A

89. What is the purpose of local exhaust system?

‘ (A) Controls radiation of heat
(B) Removes contaminants from workplace
(C) Provides local cooling
(D) Provides air supply _
e N JUTel HT R Seed g 87
(A) Tor 1 Rfd=on &t FEfa e

(B) el arell arawern (B) BRI | HqEDI Bl T

(C) URf% sfawen (C) wenfye Naerar ug™ &R

(D) fawpies srawer (D) arg agfef wg B
108 - €0 Page 12 of 16

90. Which of the following instrument is a type of 94. A hazardous area is deemed to be..........oeevninins
. 9 - if inflammable gases or vapors are likely to be
remote sensing thermometer. present in the grea only under abnormal operating
(A) Pyrometer (B) Nanometer conditions or failure or rupture of an equipment.
(C) Odometer (D) Potentiometer (A) Zone “1” area (B) Zone “3” area
S (C) Zone “2” area (D) Zone “0” area
Frofifes 4 9 @1 T S R SR T I G B ... TV R, AR 8
oI BT TF FER &7 4 dae g oRere Rl o fedl
(A) TRIRMIER (B) e SUPRIT FY fqwerar A1 e $ agd SaerTed
(©) sheres (0) eRrRex e a?m RS |
91. A minimum.clearance of 1m at front and back and ©) S " & ©) S “0” 8
0.75m on sides and between pumps should. 95. Which flux is used for soldering steel?
provided for all major pumps exceeding- (A) Zinc chloride (B) Ammonium chloride
......................... 1/min capacity. ' (C) Resin (D) Copper chloride
(A) 1820 (B) 2280 TNl BT TipT T B ford T Feet &1 U
(C) 900 (D) 1280 et e 27
A) Rie worge (B) IHITEH wINTSS
................................... Aex /e gmar ¥ e & EC; ﬁim?‘; ED)WW@
aﬁ%ﬂ
Wi g o B foe o SR G 1 A 96. The most common pollutant that is likely to cause
Y ok Tl & der 0.75 e @ W W; environmental pollution as a result of fires
Y A W ARy | include -
(A) Carbon Monoxide (B) Lead
A) 1820 (B) 2280 (©) PM 10 (D) PM 2.5
(C) 900 (D) 1280 - \
92. Which of the following have highest vapo R W GG S AT B IROTREEY AR
density? : UEHI DT HROT 9 HHAI g - ‘
(A) Chlorine (B) Carbon dioxide (A) BT AeRiTeass  (B) R
(C) Methane (D) Ammonia (€) Gruw 10 (D) fruHF 2.5
frafoad ¥ § e a9 gva Je ofs 82 | 9 g} }?CP Elxtinguisher, mg]xh?ur? ; perioqt to
) 7 5 " ischarge at least .............. b of rated capacity is
(A) (B) SEEIEEEE 20 sec and minimum period for which throw as Jet
(C) Hrgm (D) amiife t0 be maintained is .........oceererreeerernieenn. sec.
| - o @ B
93. Which of the following is not a part of small First EC; 28 %(5) gD; Sg %2
Aid box? ’ ) ] ’
(A) Band aid strip SR reafefaer & e g9 & B9 9 Y
................. % Y ezt e B sAfdrped fafer 20
(B) Roller Bandage ST ¥ G e v w0 ¥ o T T A
(C) Sterilized Eye pad ; ST AR APoE ¥ |
(D) O.R.S. Sachet o (A) 80,20 (B) 85,20
, . (€) 80, 15 (D) 85,15
f ‘__@Zf LUK s 98. Dynamite belongs to which class of explosives?
T 4T ' (A} Class B (B) Class C
(&) 33 TS Rew (©) Class A (D) Class D
(B)W'” N e favpiest @ 59 gara | Haf 87
(©) sitg & for fodmim U (A) Forg 9 (B) oIy A1
(0) 3T T CECER: (0) Teme &
108 - €° Page 13 0f 16 _



99. Every storage/warehouse building should have a | 103. One man carry (rescue operation) -
minimum of .......exit doorways, at the rate of one (A) Pick-A-Back (B) Fireman’s Lift
exit doorway per every ............ m length of the (C) Human Cradle - (D) All of the above
external walls of the building. ,
(A) 2,30 (B)g4, 20 T B (am sifar) -
(€) 1,35 (D) 3,25 (A) fp—u—de (B) wraeAT forwe
TG, WSRO /TG HHT § B A PA....... < - (©) T e (D) SoRaet Y
fFor gr 8N =Ry, Te Mo gR &1 &R W, | 104 which ive coat i ;
‘ ! protective coat is applied on the surface of
?ﬁ?ﬁ, Om ARt 1 g(f)iz()w dam W slip gauge against rust?
©) 1.35 (D) 3. 25 (A) Grease (B) Petroleum Jelly
100. What are the two important parts of employee € CT.C. (D) Lubricant oil
training for Fire Prevention Plan? o
(A) Plan Execution and System Knowledge ST @ Rgaw Re™ T @ waE W BE W
(B) Evacuation Plan and Alarm System YRS B AT Wl 87
(C) Prevention and Planning :
! (A) fra (B) Ugiferam el
(D) Planning and Knowledge , ©) A g
; - Chemical formula o ne is -
A AT e W 8 7 105. Chemical formula of propa
(A) 2o fraiaa s yome ST (A) CoHs (B) CsHs
(B) Prprf Tromr ok srerd gomelt () CHa (D) CsHio
(©) e i FirsTT : TN T R < & —
(P) Frfrrt iR ST (&) CH (B) C3H
101. According to Factories Act, 1948, a Safety officer c 2He b 3
is.to be appointed in every factory wherein ....... or (€) CHa (B) CaHio
more workers are ordinarily employed. 106. The manager of every factory shall maintain a
(A) 5000 (B) 1000 register of adult workers, to be available to the
(€) 8000 (B) 10000 Inspector at all times during working hours, or
PR i %&Tq 1, 1948 _;% SR, TP ﬁﬁ‘\’&ij when any work is being carried on in the factory.
IferHrY ?'ig]_aﬁ t Gl & Ud RNl H olg] ' . . .
‘ According to Factories Act, 1948 which of the
.............. 7 I M TH WY W FRNG £ | ’
(A) 5000 (B) 1000 ‘ following data is not a part of that register?
- (€) 8000 (D) 10000 (A) Nature of work (B) Name
102. bA:;;rdipgt t((i) I[]F:actories Act, 1948, an Inspector can (C) Address of worker (D) Gfoup of worker
pointed by - A ,
(A) Employees of the Factory TS PRAM B UGS GAH AP BT TP
(B) Central Government R ' s : N
(C) Owner of the Factory ‘ R ' Gﬁ. e 1 3T B el B
(D) State Government SR 91 W9 HREM | B B BT ST eT &,
FREHT ARFGH, 1948 B INR, Th e T WHY UG RS | PRGN AR, 1948
&1 g e gRT &1 S w87 | & ged frafafaa & @ i faRor WRmex @
z:; ?a;z@ﬁ & BTl R T8 27 .
. A gq?ﬁ-i B
(€) BREM & Ao ) 7m 2t (B) =
(D) I5g WIBR (C) sifre &1 uar (D) sifAe &1 T
108 - €° Page 14 of 16

107.

108.

109.

According to Factories Act, '1948, what is
Permissible level of Carbon monoxide in work
environment?
(A) 10 ppm

(©) 20 ppm

R FRFR, 1948 D TR, BRI qrITaRT
H B AFRITEEES $T 3T ®R AT 87

() 2 ppm
(D) 50 ppm

(A) 10 drdrgH (B) 2 drdrgH

(C) 20 drdivw (D) 50 YrdreH

Fire extinguisher or extinguishing agents (media)
shall be located not more than................ of
travel distance from the Class D hazard.

(A) 15m (B) 20m

(C) 18m (D) 25m

e e a1 st s Tole (Hifsan) et D
G W YT Q4 B............d 3EH W Rera 718

(A) 154 (B) 204,
(€) 18, (D) 2541

According to Disaster Management Act, 2005;
The State Plan does not include : '

* (A) The manner in which the mitigation measures

' shall not be integrated with the development
plans and projects.
(B) The capacity-building
measures to be taken.
(C) The vulnerability of different parts of the State
to different forms of disasters.

and preparedness

(D) The measures to be adopted for prevention and
mitigation of disasters.

s based dry powders are specially

formulated for fire metal.

(A) Sodium bicarbonate

(B) Ternary eutectic chloride
(C) Mono aluminium phosphate
(D) Chlorine trifluoride

...................... TR YF USSR BT A9y wY o

e BRR & oY 9911 ST 2 |

(A) Hfegw FEHEAT |
(B) el Rfied FARES .

(C) W vogHfem wivpe ﬁ
. (D) RN TIEYINISS

11.

AFFF is a special type of foam. On what type of

- fires is it used?

(A) Fires from electrical short circuit
(B) Fires from toxic agents like lead and mercury
(C) Fires from burning fibres

(D) Fires from hydrocarbon fuels

TUH.UH.U%. (AFFF) U6 {49y YR &7 BF &
BT ST fFY UPR B T § fHar wrar 27

(A) forell & wife wfdfe 9 oy o
(B) Irr 3R Ry S Wil Toiel | 3T o

(C) Siereh g3 WIEaR ¥ 3T A

(D) EISSIBET S99 AT H

_ 112. How many classes of fire are present as per NFPA

SET S ST, 2005 & SER; 59 10 standard? : :
g | e a8 &~ _ @ s ® 4
(A) g AR IR aRASTRT & JRy I c o

STt B T T B BT © 6 @) 3
(B) ooy afiz T Al duiRat @ |

gg, e TITHAY. 10 A9 & FFaR AT 3 b
(©) 57 & faff Wt 7 avesif & fafT o UPR 87

oI (&) 5 @4
(D) Suersit 1 e SR T @ g Aoy |
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